T KEDLLICEI HERAE(RIER O RRIR)

xiE  BR.LER

BARRDIERE ZERIHh D ERiE

& A T B 207AN061-2

& it % RDFH-1

2l = th AETROHZFE7HE
AOE O B B b IR iR B S £ KER

#

B

sE=r

Y 7 St & . - ' h
) L ligh s i SE > 0 4 8km
#® g i B

N B s e B T ey —
o A =1 T L S LA
Ea ) i Pl L 1/200,000

¥R X (S=1:200,000)

[E 1 1 BB D EF 1 K1200000[/\ F R N E-F i KI25000 X #.)%#5 &



AHEMMOBRRREGFE

BRS—1 BEDNETNOHDILH. ELVEENSINDHLLORER _ EET BRI
2t M D B EmES | 207AN061—2 | EFE DR | FEM KA Dk T

TEMTRIER BEOEETNDHDHLHDXE TREDBETLD A 100N/ MEFEZ HEH
/3 ELVEEDESZTNOHH LD R —— tRZDHBEEIIMERZSEHE

EFE



RIER D FRIRREEE

BR3—2 BEWICHEATILEESNIERICETIEEI/) _ _ | mEEE | STk
SEMMOME | EMmES | 207AN061-2 BT % R D g1 AR | X DA THIE
. SIERHO FinlZBET 51 SUERIHRA
ﬁﬁg TREOBBOESILADKRES TREDOHBESILNDKRES TREOBBOSILADKRES TREDHEBSSLADKRES
= = R HVE B R HVE | = = DV = E AN = =3
5 R 4 .(Er,na; ‘Finﬁb(:)o)ﬂﬁﬁﬁ jj(g')\lj/kn%é X 4 Tiﬁﬁﬁggg)nikq: .z,n? jj(g')\;tnié X 4 .(Er,na; J:m;ﬁ(:)(btl:.a jj(gi;tnié X 4 J:.lﬁ'ﬁfJ(z)o)ttlsl .(sr,né; t(gifn?)é
; 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
Zhust - -~ - —| Fhiust - ~ = — — Zh st — — ~ — — | Zh st — ~ — — —
2 100kN/mM#%#8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#8Z % — -~ — — |3m%i#BZ % -~ — — —
Zhnst 1.00 | 0.00 ~ 7.05 89.41 | #hdst | 0oo ~ 705|175 9.39 Zzh st 1.00 | 5.00 ~ 8.80 89.41 | #hst | 5.00 ~ 880 |1.76 9.39
3 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
zh st 1.00 | 0.00 ~ 7.05 89.41 | #hdst | 0oo ~ 705|175 9.39 Zzh st 1.00 | 5.00 ~ 8.80 89.41 | #hst | 5,00 ~ 880 |1.76 9.39
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 ] 000 ~ 755 96.64 | #ns | 0oo ~ 755|223 11.96 ZThLLst 1.00 | 5.00 ~ 10.00 96.64 | TNUS | 5,00 ~ 1000223 11.96
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
zhnst 1.00 | 0.00 ~ 5.68 70.92 | =0 | 000 ~ 568 1.73 9.27 Zzh st 1.00 | 5.00 ~ 6.30 70.92 | EnS | 6,00 ~ 630 1.73 9.27
6 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00] 000 ~ 475 5920 | #ns | ooo ~ 4751.78 9.563 ZThLLst 1.00 | 5.00 ~ 5.00 59.20 | NS | 5.00 ~ 500|178 9.53
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100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zh st ~ Th Lot ~ LS ~
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Zzh st ~ Zh st ~ ThLLst ~ LS ~
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Zh LS ~ Zh LS ~ ZnList ~ Zhst ~
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